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QUESTION 1

You want to implement persistent NAT for an internal resource so that external hosts are able to initiate communications
to the resource, without the internal resource having previously sent packets to the external hosts. Which configuration
setting will accomplish this goal? 

A. persistent-nat permit target-host 

B. persistent-nat permit any-remote-host 

C. persistent-nat permit target-host-port 

D. address-persistent 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

In the network shown in the exhibit, you want to forward traffic from the employees to ISP1 and ISP2. You want to
forward all Web traffic to ISP1 and all other traffic to ISP2. While troubleshooting, you change your filter to forward all
traffic to ISP1. However, no traffic is sent to ISP1. 

What is causing this behavior? 

Exhibit: 
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A. The filter is applied to the wrong interface. 

B. The filter should use the next-hop action instead of the routing-instance action. 

C. The filter term does not have a required from statement. 

D. The filter term does not have the accept statement. 

Correct Answer: A 

 

QUESTION 3

You are asked to implement IPsec tunnels between your SRX devices located at various locations. You will use the
public key infrastructure (PKI) to verify the identification of the endpoints. What are two certificate enrollment options
available for this deployment? (Choose two.) 

A. Manually generating a PKCS10 request and submitting it to an authorized CA. 

B. Dynamically generating and sending a certificate request to an authorized CA using OCSP. 

C. Manually generating a CRL request and submitting that request to an authorized CA. 

D. Dynamically generating and sending a certificate request to an authorized CA using SCEP. 

Correct Answer: AD 

 

QUESTION 4

You have just created a few hundred application firewall rules on an SRX device and applied them to the appropriate
firewall polices. However, you are concerned that the SRX device might become overwhelmed with the increased
processing required to process traffic through the application firewall rules. 

Which three actions will help reduce the amount of processing required by the application firewall rules? (Choose
three.) 

A. Use stateless firewall filtering to block the unwanted traffic. 

B. Implement AppQoS to drop the unwanted traffic. 

C. Implement screen options to block the unwanted traffic. 

D. Implement IPS to drop the unwanted traffic. 

E. Use security policies to block the unwanted traffic. 

Correct Answer: ACE 

 

QUESTION 5

A local user complains that they cannot connect to an FTP server on the DMZ network. You investigate and confirm that
the security policy allows FTP traffic from the trust zone to the DMZ zone. 
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What are two reasons for this problem? (Choose two.) 

A. The FTP server has no route back to the local network. 

B. No route is configured to the DMZ network. 

C. No security policy exists for traffic from the DMZ zone to the trust zone. 

D. The FTP ALG is disabled. 

Correct Answer: AD 
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